Given: AM =CP, Cis the midpoint of AG, AF=eF
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Given: Yx =Xz WX bisects £LYXZ

Prove: Awyxs= AWzx
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Given: Sis the midpoint of RT, PR = PT

Prove: APRS= APTS
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Prove: AAEC = ABED
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Given: R is the midpoint of QS, ZRPQ = ZRTS

Prove: APGR = ATSR

P )

Q

LR Mepr @6 WD Guen
DO8 = sk [(Dmef Mg
2L EPRT IS (@ Gun

(D) Lpr@y RS VA
QavoszaTse (&

e—

Given: /A=/E BC=DC

Prove: AABC = ADEC
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GiVeNn: F[£H =FJ, HF = JG, F is the midpoint of EG

Prove: /EFH = LFGJ
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Given: PL:=[M, QL bisects ZPLM

prove: /l=.,/2
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Given: AB=DC, /2= L4

Keasons
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